INTERMEDIATE EXAMINATION 2019 (ANNUAL)
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Instructions for the candidates :-

1. Candidates are required to give answer in their own words as far as
practicable.
TRIeneft gemg 3 wreet ¥ W T

2. Figurein the right hand margin indicates full marks.
Ife 3R BRI 1R A gU it quites fiffe awa &

3. While answering the questions, candidate should adhere to the
word limit as far as practicable.
ST qd wHg aereft gy srea—wdr @1 e < |

4. 15 Minutes of extra time has been allotted for the candidate to read

the question carefully.
¥ U¥T U B AHYES U B fordl 15 fre a1 aifaRed W R Ty
el

5. This question paper is divided into two sections: Section-A and
Section-B
& U¥T U Tf WUl H B, GUe—3] UG WUs—q

6. In Section A, there are 35 objective type questions which are




compulsory, each carrying 1 mark. Darken the circle with blue/black

ball pen against the correct option on OMR Sheet provided to you.
Donot use Whitener/Liquid/Blade/Nail on OMR Sheet otherwise

result will be treated as invalid.
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In section-B, there are 18 short answer type questions (each carrying
2 marks), out of which only 10 (ten) questions are to be answered.
Apart from this there are 06 Long Answer type questions
(each carrying 5 marks), out of which 3 questions are to be answered.
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Use of any electronic device is prohibited.
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SECTION-A (Objective Type Questions)

Wue—31 (A ue)

In the following questions no. from 1 to 35, there is only one correct

answer against each question. For each questions, mark (darken) the cor-

rect answer on the OMR Sheet provided to you. (1x35=35)

FrefRed UeT W1 1 ¥ 35 OF B TP Y B fordl Ua € fawe WEl B |

e @ W SR uFe (OMR) # fafed & |

¥

How many types of Crystal are found ?

A. 2 B.6 C. 4 B
<ar fbas gHR & B 8 7

3. 2 4.6 3. 4 g 3
Which of the following bond is found in H,O (ice)?

A. Hydorgen bond B. Metallic bond

C. lonic bond D. All

H,O (@%) ¥ fbd PR B Jua oy W 8 7

3. BTSSIoIA 4iU8 q. Herfeld dive

4. rgfed dvs ARG

One Faraday of electricity is equal to how many coulombs ?

A. 96500 B. 96550 C. 94500 D. 96000



U% HIIS faed feam dere & avreR g 87

31. 96500 9. 96550 3. 94500 <. 96000
Inverse of resistance is called :

A. Conductance B. Resistance

C. Good conductor D. None

gfeRler @ ufoa™ &1 brd 8

3. aTeThdr q. W q. gATcd G PIg e
For strong electrolytes Am:

A. increases on dilution B. decreases on dilution

C. remains constant on dilution  D. all

Uqel dgd AqEey H Am BT A
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Chemisorption is :

A. Irreversible in nature B. Reversible in nature
C. Arises due to Van der waals forces

D. Depends on nature of the gas

RrFafee Srferersor B § |
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Chief ore of Iron is :

A. Magnetite (Fe,O,) B. Haematite (Fe,O,)

C. Siderite (FeCO,) D. Iron pyrite (FeS,)

Al BT &I IS 8

31. #erge (Fe,0,) 9. g9erge (Fe0,)

9. Risvige (FeCO,) Q. M urgNse (FeS,)
Which type of ore can be concentrated by Electro-magnetic
separation method

A. Non-maganetic particles B. Magnetic particles

C. Sulphide ores D. All the options

foe G R @ 31D BT WFU FAaE— D Yermaxor ARy gRT far S
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Copper matte contains :

A. Cu,S and Cu,O B. Cu,S and FeS
C. CuS, @11 Fe, 0, D. Cu,S and Cu
IR AIC § B &

3. Cu,S @11 Cu,0 ¥. Cu,S i1 FeS

9. CuS2 GE Fe203 -3 Cu28 aar Cu
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Group 15 of Periodic table includes Nitrogen and

A. Oxygen B. Phosphorous C. Carbon D. Argon
arra?%ﬂwvﬁzﬁgmsﬁmg@mﬂzﬁa%ﬁaﬁﬁﬁwaﬁ:%?
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d- block elements are also known as :

A. Transition elements B. Typical elements

C. Non - transition elements D. Alkali metals

4- @it @ dl BT IR b A W ST S §

31, HHHOT T g, yTedl o<

. 3GHHOT < q. &R ©1g

Zincis a:

A. Transitioin element B. Lanthanide

C. Normal element D. element of s - block
S & T®

31, WepHOT CRGRORIES
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Mn® is an oxidising agent because :
A. half filled t, level B. Completely filled e_ level

C. empty d - orbital D. all
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16.

Mn3* T SiTRIBRS © :

a.tzgmwwaﬁw% a.eg?{aﬂtgviﬂrwm%H
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|.U.P.A.C name of K[ Zn(OH),] is :

A Potassiumtetrahydroxozincate (1)

B. Zinc di - hydroxide C. Zinc hydroxide potassium

D. None

K,[Zn(OH),] T LlUPAC M & :

31 grelnm Sorgsasiae (1) 9 Rip—<Te— BIESIaAIES

4. fiw eregiaaEgs deiad g, BIs el

Double bond in Alkenes are detected by adding

A. liquid Co, B. liquid Br, C. liquid chlorine

D. Baeyer's Reagent

sy @ faaey o1 ar e @ ferd

31 @ Co, 9. Rel Br, . TRl FARI
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The stereoisomens related to each other as non - superimposable

mirror images are called :
A. diastereomers B. enantiomers

C. chiral compound D. Racemic mixture.
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3. SHARCRIAMR g, gfofaraaaaT

. Preva AITD zxafys  fyewaw (Fason)
Chloroform on treatment with O, in presence of light gives :

A. Phosphene B. Phosgene

C. Phosphorescence D. Methane

R, SRl W T o SuReRy A s w3 @

31, BRI g, BRI g BRpRE g8 fHE
Alcohols and Phenols are formed when one of the hydrogen atom
of Alkane and Arenes are replaced by which group?

A. -Cl b. -OH C. -CHO D. -COOH

Q@ﬁﬁasﬁ?ﬁﬁaaﬂﬁﬁwm@mwwg@mﬁm@uﬁ?ﬁ

gl B 7

A. -Cl b. -OH C. -CHO D. -COOH
Glycerol is a :

A. Monohydric alcohol B. Di-hydric alcohol

C. Trihydric alcohol D. Tetrahydric alcohol
frer’ier €

31, ArETsfyd TadIETe g, SE—Eef$d Tadhleld
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21.

22,

Simplest hydroxy derivative of Benzene is

A. Propanol B. Phenol

C. Benzylalcohol D. None

af~aT BT HERT BSgia G~ & ¢

31, UIHTe 9. Befel 9. d98el Yohled €. PIs sl
OH

IUPAC name of the compound CHs'@'C”s is.
A. 2, 5-dimethyl Phenol

B. 1-hydroxy-2-methyltoluene

C. 1-Hydroxy-2, 3-dimethylbenzene

D. Hydroxy dimethyl benzene

OH
|
CH,- =CH,
@ ®1 IUPAC 9 & :
3. 2, 5-S18 fAensa fhara ¥ 1-BSgIRI—2—Benge SfeargH

. 1-BIESid—2, 3—S3fAEd dui9 T SEeiadl SF fHursd doib

Chloroethane on reacting with ammonia gives :

A. Ethanamine B. Propanamine
C. Benzylamine D. Ethane nitrile
FARI 324, M | fAfhar &% <ar = ¢

31, 3T CACIEEIEE]
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24.
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2B

Amides on reduction with I'_iAIH4 gives.

A. Alkanes

trge LIAIH, 3 s & oY 3T 2

3. Uehe

B. Alkylamines

q. Ufoddl THIA

IUPAC name of HCOOH is :

A. Ethanoic acid

C. Methanoic acid

HCOOH &1 IUPAC 4 ® :

31, YIS D IR
R EPEIECCES |

IUPAC name of oxalic acid is :

A. Methanoic acid

C. Ethanedioic acid

aiteoifere st @1 IUPAC 9 &

3. s v

H. sI—-SIE3Ngd 3T

The formula of Methylnitrile is :

A. CH,NC

B. CH,CN

fRergel ATgeIsd BT A ©

A. CH,NC

B. CH.CN

C. Alcohols

. Tehlald

B. Formic acid

D. Oxalic acid

B. Ethanoic acid

D. Benzene

4. 3UAISH 3+

g, dfvor

C. C,HCN

C.C,HCN

D. Acids

Q. ¥l

D. C,H.NC

D. C,H.NC
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Simple Carboxylic acid are soluble in water due to formation of :
A. Co-Valent bond B. Hydrogen bond

C. lonic bond D. None

ATTROT FTaT RIS ol oot F gereel 8T 7, a4l 3 dia B ®
3. AE—HdITDh I q. BTggIor o
. Imafae g, Hlg el

The formula of fructose is :

A' CGH‘L2O6 B C12H22011
C. G058 D. GHO,
eI BT A ©

A' C6H1206 B C12H22011
C. C,H.,05 D. C,H.O,

Carbohydrate that yields three to ten mono-saccharides units on
hydrolysis are called.
A. mono-saccharide B. Oligo-saccharide

C. Poly-saccharide D. Di-saccharide

HHETEIEST i STelifehd BIdR O W T AFNRIgS dA1d1 2 99 HEd § ¢
3. AA-HRES g, aiferm—uwTgs
. UTel—aRISS g SR—UNISS

Amino acid contains two functional groups, one is -COOH and other



373,

82.

33,

34.

avﬁnﬁamﬁaﬁﬂﬁﬂw@ﬁ%m%—COOHsﬁvw

A. -OH B. -NH, C.-NH, D.(Iile4
Polymers of a-amino acid is called :

A. Protein B. Peptines C. Peptides D. Dipeptide
) STt @ e 3 P ¢

31, wifed g, Uerg . UCES T, SE-UTIES
Polythene is a polymer of ?

A. Ethane B. Ethene C. Ethyne D. Propene
Gt frvret agad © 7

31, g9+ g. g . gATeA T. gid
Rubber, Starch, Cellulose and Protein are

A. Synthetic polymers B. Natural Polymers

C. Semi-Synthetic polymer D. None

R, e, Tegelol T e €

31, Healfed diel¥ R 4. yrapfe dfeliR
3. 3T Avelfue ey 3. BIg el
Buna-N and Buna-S are the types of

A. Natural rubber B. Synthetic rubber



5.

C. Polythene D Bakelite
@ET—NHQJT@IHT—SWW?:

31. yrapfded vaR . Heelfud vaR
9. dfetief= q. ddhalTge

The drug used to reduce fever is known as.

A. Antacid B. Analgesic C. Anti-pyretic

IR H B H YUY &dl Pl HEA

31 ufa orvt CRRC SRR . SR BRI

D. Anti-biotic

z gfa Sifds



SECTION-B (Non-Objective Type Questions)
Gue—q (TR—aEfs u3)
Short Answer type questions
I T

In this Section. there are 18 Short answer type questions (each
carrying 2 marks), out of which answer any 10 questions.

s ¥ 18 g ST v ¥ (e @ o < i PRa #), R W
fFl 10 AT BT STR <7 AfErd B |
1. What do you mean by Frenkel's Defect ?

el SN W MY 9T S § °
2 What do you mean by an Ideal solution ?

areel e ¥ oY 3T FHsid 8 7
o, Define Osmotic pressure ?

TRTAROT €T BT URATRE B ?
4. Why Copper sulphate is not stored in zinc pot 7

FTIR ede @I e T A gl AEl o AT i € 7
B, In Nernst equation E = E? - ‘:T—F In[MWn*l] . R and F stands for ?

e el E=E°- KL Ingey , ¥ RaRFam&?
6. Define Cell constant 7

Tor Rerid @1l & |
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12.

13.

14.

18.

16.

What are Enzymes ?

TITSH T 8 7

Why does PH, fu.mes in moist air ?
PHaem‘ana%wuqaaﬂTaTé,m‘f?

Why H,O is liquid and H,S is gas at room temprature ?

TR @ A W H,0 TRet 8, Sl H,S e @, a7

On what ground you will séy that, scandium (Z=21) is a transition

metal ?

S A G P TR T PR AT BT K, TReTH (Z=21) TF HHHT T 87
Which ore is stronger reducing agent Cr? or Fe*" ? Explain.
Cr2* g Fe? ® X B9 Udel JabRD &, AT PN |

What do you mean by inner-transition elements T

Y SATCR—HHOT Ted & FAT qHEI & 7

What do you mean by co-ordination number 7

TRl AT ¥ MY T A § 7

Define Bidentate ligand ?

R forilve 9 ofmg @an AHed € |

Aldehyde on oxidation will give ?

OfeeErse @ offeflex | @ fAerdn & ?

Name one water soluble and one fat soluble Vitamin.



wmﬁwﬁﬂwwwﬁtﬁﬁ?ﬁﬂﬁaﬁﬁzﬁw%@t
17  Define molality and mole fraction
HieterdT UG HieRar @ gk < |
18  Differentiate between Condensation and Polymerisation.
e Td agelvor 7 AR fored |

Long answer _type question

a’r'éf Sd Y
There are 06 long answer type questions (each carrying 05 marks),
out of which answer any three questions. (5x3=15)
Wmﬁoaﬁwﬁnmﬁﬁ@%(ﬁ%ﬁos%ﬁaﬁa%o
R @ Rpedl i wAT 1 ST < (5x3=15)
19 Find the order of reaction of the following :
A. Rate = K[A]"2[B]™2

B. Rate = K[A]"?[B]"

f‘wf‘ﬁadwﬁcbfﬁ%mqﬁrmaﬁ?ﬁ%ﬁmaﬁ:—
A Rate = K[A]"2[B]”2
B. Rate = K[A]"?[B]"
20 Write in brief about how Sulphuric acid is manufactured by contact

process ?

T T e wuE faftr g B e 8, Wew A ford 7



5 P

22.
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What happens when

(i) Concentrated H,SO, is added to Calcium fluoride and heated ?
(i) SO, is passed through water. -
(i)wﬁwﬁmmﬁﬁmm%‘aﬁ?nﬁﬁmm
g7

(ii) SO, P et  wanfeer fpan S & ?

\Write the electronic configuration of the following

A. Cr* B. Cu* C. Co* D. Fe* E. Mn#

[Atomic number of Cr = 24 Cu =29, Co=27, Fe=26, Mn= 25]

Frfarfag &1 goacie famar ford |

A. Cr* BGu C. Ce* D. Fe E. Mn?

[Cr, Cu, Co, Fe Td Mn @1 UXHIY] WAl Al 24, 29, 27, 26 Td 25 B ]
How will you convert the following?

a. Methane to Ethane

b.  Ethanol to Ethyl acetate

Q. Metane to Chloroform

d. Ethanal to Ethanoic acid

e. Acetic acid to Methane

ferferfaa @ o uRafda &7
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g & g
a  ota @ geTEe THeT
g e A TeReH

< 3Id A SOFE® 3
3. wdifes 3R ¥ A
Write short notes on .

a.  Inductive effect

b. Resonance

wifere feaofl fored |
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